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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

Annotation Meaning
Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the
guestion)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Present tense correctly used

Accurate language

In

eI EHE SR E gl P

Inaccurate language
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Abbreviations Meaning
/ Alternative and acceptable answers for the same marking point
() Words which are not essential to gain the mark

Underlined words must be included to gain the mark

DNA Do not accept

Subject-specific Marking Instructions

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in
order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen.
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Section A: Listening and Writing
Task/Exercise 1:

Task specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

e For single mark guestions no annotation is necessary just enter 1, 0 or NR.

e There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the
mark or when a word in the response invalidates an otherwise acceptable answer.

e You may also use the highlighter tool to show harmless additions.

e Answers in Target language get no marks.

Question Answer Marks Guidance
[8]
a (When he was) at primary school/When he was a child 1 DNA young age/boy
b He often forgot them 1
It was hard to keep his glasses clean/ keep it clean 1
c She was worried about whether he could handle/cope/deal with/ manage the 1
change /eyesight problem/lazy or weak eyes
or if she could handle the costs/ financial problem 1
(Approximately) 30 years / 3 decades 1
e By having an eye (laser) surgery 1 DNA’ Laser’ on its own
f By trying to improve something we make it worse. 1 DNA Danger

Accept only the general meaning of
the proverb
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Task/Exercise 2

Task specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

e For single mark questions no annotation is necessary just enter 1, 0 or NR.

e There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the
mark or when a word in the response invalidates an otherwise acceptable answer.

¢ You may also use the highlighter tool to show harmless additions.

Question Answer Marks Guidance
[20]
a Lo o8iaR (Sai) (i) (eaiaalis) - all 1
b Aaalid e ) (L0 sl jed) LA [ el I/ FS hdd oo ja il : o 1

S pae hla 4 o 1

Cc "~ 3
(LS (il 35a s ) a3 e oS (AK] 1

] S daaa|
a2 e ) gLy liady Jlaa o a3 je Glalia 1

e AEL Tl G 1y 1

Glabus G 8 Jas iz 1
> A ol e () S ) !

g N T N Y A

RS A

i ™ Gl e e Sl 1E 1

j 35 oad 4idla K (Gla sal) Sl o) a8 o) Jhala 4y 1
Kk ol oSl S () s 49) 12 1
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Question Answer Marks Guidance
[20]
| wﬁw@uqf‘/«%j}muu % Gt J g8 (B8 "aaly LA
e gl a0
m Ol sl sl Baa/ o)) ln ) Qe s ) !
L Ban WL o [ lea (St A Sl S5 1 Jsd JiE " i oL L
n - ...
BT IEL WERIgH 1
0
L ) sl axe 1
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QoL: Read response again and assess for language.

e Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not
essential.

e Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band
which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE - ACCURACY

SRP G2 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,

3-4 adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly
influenced by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

nouns). Frequent first language interference.
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Section B: Reading and Writing
In Section B there are 10 marks for Quality of Language.

Task/Exercise 3

Question Answer Marks Guidance
[7]
1 (o) 1
2 o 1 Multi-choice
3 ‘; 1 Marks entered individually. No need for annotation. Enter 1, 0
2 u 1 or NR as appropriate.
5 o 1
6 all 1
7 < 1
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Task/Exercise 4:

Question Answer Marks Guidance
[8]
. syl (all) 1 1 mark for each correct answer
Al (u) The marks are awarded individually. No annotations are
b TN 1 | necessary.
c e ok ()]
q LJ\).L:\ («_1) 1
o O (B
: =@,
g dmm (E) 1
h O\MJJG - (C) 1

10
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Task/Exercise 5
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Question Answer Marks Guidance
[5]

1 d 1 | GapHill

No annotation is necessary. Enter 1, 0 or NR as appropriate.

Ignore misspellings.
2 82 1

Note:

U Grammatically, all options are possible. Factually, only one
3 1 option is correct for each stem. Options _ (e) and u= (g) act
3 as ‘distracters’ for 1 and 2 respectively.
4 1
(W
5 ’ 1
Task/Exercise 6
Question Answer Marks Guidance
[5]
(S2ua -al
a 1 Sentence Completion
— Marks entered individually. No need for annotation. Enter 1,

b © 1 0 or NR as appropriate.
. GRS e -7 ’
) Sl § A 5 sl /0 - 1
e SE KN -3 1

11




F886 Mark Scheme June 2015
Task/Exercise 7

Task specific guidance

e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).

¢ Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Gothrough all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

¢ Annotations:
o Award 1, 0 or NR without annotation.
e Use atick (v) to indicate a mark awarded on any question where the answer is more than one mark.

o Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

e Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quiality of Language assessment.

12
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Task/Exercise 7
Question Answer NEB‘;S Guidance
. ) O N S e U BN e
*paragraph number in
. . . rubric didn’t include
R gl ysleandl 35,5/ ) Y ARl @ 1 Paragraph 3 but in
b Lsd,-.w\ Q\ Jl-} 1 guestion itself correct
paragraph number was
mentioned. This has been
i considered in marking.
g N R Al e
. A G 2 sA (S lame g 0k pll g1y 2l Siee 230 1]
lalias Al / Hu;ymsﬁdw/émduu;yuaﬁwﬁh d L
f aJ.u\J\LgLAJISUJJSeS/GA}u:ds.\ LL“A(HM-WLSJ 4.1.\@.1/).\..».\4).\...» 1

13
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Task/Exercise 8: Transfer of Meaning

Mark Scheme

June 2015

Question Answer Marks Guidance
[10] Content Levels of response
1 Q) sna pd e O AS r""'s"' U gal y3 4l 2 Award two marks per translated GRID H.2 TRANSFER OF
6)_“_\_, RETRY g_\;\g)q section according to the grid below. MEANING
Of course we shouldn’t forget as people must pay This grid assesses Transfer of
more M(_aa_nlng into Enghs_h. Note t_hat this 2 _
- Ol e R ole s ) . i grid integrates Quality of Written Accurate transfer of meaning.
2 O 5= ) J e ‘ d > 2 Communication Strand (i) descriptors. | Faultless or virtually faultless
S o grammar, punctuation and spelling
for SOme Ut.'.“ty bills like gas, water and electricity, Exceptional responses and marks to | in English.
3 ol s u-*-”\."d)s D l-fu\ Ls—")-*‘.'*.&)s‘.j\ 2 award:
_ a3 e fAS ) 550 alia 1
their consumption pattern has changed and they 1. Candidates may answer in Inconsistent transfer of meaning.
don’t waste these energy sources too much. faultless English but may not Mostly accurate but there are errors
4 el ) Il a3 je (ABS mhaw 03 0 Vb (6l 2 transfer meaning accurately. and/or missed details. There are
éﬁ-’,) 4 A UJ)S (,,5 calia o Award either 0 or 1 mark, instances of error in grammar,
To raise people’s awareness through different depending on level of inaccuracy | punctuation and spelling in English.
ways of lowering their living costs in meaning.
2 * 0
5 93l ) 3 (63U sladall p (Cuw )3 @ paa b 2. The transfer of meaning is Very limited transfer of meaning. A

ol oad (A (5 50
By consuming in better ways, they broadcast
different shows on radio and TV.

accurate but contains
significant spelling and/or
grammar errors. Award 0 or 1
mark, depending on level of
inaccuracy of English.

substantial number of elements
misunderstood or missing.
Significant error in grammar,
punctuation and spelling in English.

14
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Task/Exercise 9

Question Answer M?Sr]ks Guidance
a S/ slai) gy Curaa g rall 1
. (BYE) G (RS |
. L (eesee) oty i
g oS e/ salaBl d e 1O L
o YA e [y A Qe @

15
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Task/Exercise 10

June 2015

Question Answer M;r]ks Guidance
4 [l jdf/Caxd gaf &L.z.)\ Od g 1l L
Gl A/ S IST o/l e
b 1
e g yifads B Qle /a1
c 1 Multi-choice
Marks entered individually. No need for annotation. Enter 1, O or
g L Cuje/cuie QG fla osaflasale & L NR as appropriate.
a8 S 930 wadfas o QB 3G Gl 8 &
e g 1
f W Ol [y (et Jpugmaa |
pd e Ay 0 [ S (A [ 0 S sl iz *paragraph number in question paper should be 5 but as it is
g 1 underlined in the text candidates could answer it. It has been

considered in marking

16
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Task1ll

Task specific guidance

e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).

e Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Gothrough all the responses and assess every question for comprehension.

d. Marks are awarded on a point by point basis, according to the mark scheme.

e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

f. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

Annotations:

. Award 1, 0 or NR without annotation.

. Use atick (') to indicate a mark awarded on any question where the answer is more than one matrk.
. Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

. Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

17
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Task/Exercise 11

Question Answer I\/ﬁrol]s Guidance
JJ).\S‘_,’_AeA)AMLSJSJQJ}AM‘M\JQWQ;\A):}MMQJJJGMSul\ 1
a S Caly 0 bl G sea 4o e SaS Ol s a0 1) (rdae il 55 e SR 8 Sy 1
Gl g oBesia (e (Fd pw e Sl 1
c aos Gl 8l e ]

R YL, S e iy S

d s 4l 3 s/ 200 Sl 50 (5 b 3 g ) la adla !
QIR Ale s (2 923 5 209 (S 3 e )13 Agla 1
YR PPNV NN R 1
€ Nl |y a Y oyl & 1
f i g ol 8 U 50 e Jlal GlaVIS g Slel b iz 1

18
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Assessing Quality of Language across Section B

a. You will get a separate screen which will be the whole page for exercise 4, 5, 6, 7, 9, 10 and 11 (unannotated). Read all the answers
again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not
essential.

b.  Apply Grid C.2 and enter the mark.
C. PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language.

QUALITY OF LANGUAGE - ACCURACY

RS2 10 marks AO3
9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.
7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.
5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct

use of complex sentence structures. The performance is likely to be patchy and inconsistent.

Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,
3-4 adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly
influenced by the candidate’s first language.

Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

0-2 nouns). Frequent first language interference.

19
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Task/Exercise 12-19

Task specific guidance

Mark one essay using the grids N, O, C.2 and F.2.

If a candidate has written more than one essay mark both essays in the normal way but enter the mark for the essay which has earned most marks
over all.

Question Indicative Content Marks Guidance
Task 12- | No Indicative Content — personal response [25] | Grid N guidance
19

3—4 — No specific example from TL = cap 4

5—-6 — Demonstration of originality and/or imagination — applies mainly to
imaginative

7-8 — Imaginative and/or original response to task — applies mainly to
imaginative

Grid O guidance

6—9 — Straight narration = more 6/7

Evidence of some argument = more 8/9

20
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Task/Exercise 12-19 — Language (QoL) — Grids C.2 and F.2: [20 marks]

Question Answer Marks Guidance
Task 12- | Assess for Quality of Language using Grids [20] Read the whole response again and assess for Range (Grid F.2) first — i.e.
19 C.2 and F.2 vocabulary and structures. Then assess for Accuracy (Grid C.2). Key words
A dix 1 have been highlighted in the grids below. Ignore final sentence of 3-4 band in
ppendix Grid C.2, because vocabulary and structures have already been assessed

under Grid F.2. If you wish, you may use the underlining tool (--) to show
language errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

Grid C.2 guidance

0-2 — Errors ([e.g.] endings, verb forms, gender of common nouns).
Frequent first [= other] language interference.

3—-4 — Errors ([e.g.] endings, verb forms, gender of common nouns, adjectival
agreements).
Candidate’s first [= other] language.
Meaning may be unclear; more wrong than right.

5-6 — Wrong/right = 50/50

7-8 — More right than wrong.

Grid F.2 guidance
5—6 — [A range of] syntax and sentence structures appropriate to the [register of

the] task.
7-8 — Effective = good.
Reads easily.

9-10 — idiom # idioms.

21
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APPENDIX 1

GRID N

9-10

7-8

5-6

3-4

0-2

Mark Scheme

RELEVANCE AND POINTS OF VIEW
10 marks AO2

Consistently relevant information that supports
points of view and opinions. Shows genuine insight
in responding to the task.

Relevant information that responds to the
reguirements of the task and is used to support
points of view and opinions. Produces an imaginative
and/or original response to the task.

The information given is mainly relevant to the task.

Points of view and opinions are generally supported
by some factual evidence. May demonstrate some
originality and/or imagination.

Includes some relevant information but does not
always address the requirements of the task. May
have some difficulty in expressing points of view
and/or narrating events and/or communicating factual
information.

The response to the task is likely to be very short
and/or irrelevant and/or very superficial.

GRID O

13-15

10-12

6-9

3-5

22

June 2015

STRUCTURE AND ANALYSIS
15 marks AO2

The response displays genuine control and clarity. A
very well-developed argument. Confident ability to
develop an argument, analyse and evaluate, and draw
conclusions.

Coherently structured and organised response. Points
of view are linked in a logical sequence. Able to
develop an argument, analyse and evaluate, and
draw conclusions.

Structured and organised response. Points of view are
mostly linked in a logical sequence. Shows some
ability to develop an argument, analyse and evaluate
and draw conclusions.

Shows some ability to structure and organise the
response. Limited ability to develop an argument,
analyse and evaluate, and draw conclusions.

Random organisation of the response. Limited
attempt to develop an argument, analyse and
evaluate, and draw conclusions.
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GRID C.2

9-10

5-6

3-4

0-2

Mark Scheme

QUALITY OF LANGUAGE (ACCURACY)
10 marks AO3

Characterised by a high and consistent level of
accuracy in use of complex structures, although there
may be some errors.

Language generally accurate. Shows a sound grasp
of AS and/or A2 structures, as appropriate. Generally
correct use of complex structures. Tenses and
agreements good, although there may be some
inconsistency and errors in more complex areas.

Shows evidence of fair understanding of grammatical
usage. Generally accurate use of simple sentence
structures. Some correct use of complex sentence
structures. The performance is likely to be patchy and
inconsistent.

Evidence of gaps in basic grammar. Frequent errors
of an elementary kind (endings, verb forms, gender of
common nouns, adjectival agreements) but evidence
of correct use of simple sentence structures.
Vocabulary and structures may be quite strongly
influenced by the candidate’s first language.

Little evidence of grammatical awareness. Persistent,
serious and elementary errors (endings, verb forms,
gender of common nouns). Frequent first language
interference.

23

GRID F.2

9-10

3-4

June 2015

QUALITY OF LANGUAGE (RANGE)
10 marks AO3

Effective and confident use of a wide range of
vocabulary and idiom with a variety of complex
sentence structures.

Effective use of a range of vocabulary and structures
appropriate to the task, with little repetition. A positive
attempt to introduce variety and to use a range of
complex sentence structures (though not always able
to maintain correct usage).

Attempts to extend the range of vocabulary,
though still rather repetitive. Attempts to use more
complex language with some success in producing
a range of syntax and sentence structures appropriate
to the task.

Use of a restricted range of vocabulary and structures.
Frequent repetition of the same words and phrases.
Some attempt (not necessarily successful) at the use
of more complex sentence structures.

Only simple sentence patterns. Very limited
vocabulary. Very limited range of structures.
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APPENDIX 2
Transcripts of Listening Texts

Note for Document production team: This section of the mark scheme must stay in
Portrait format until after the standardisation meeting.

Exercise 1

[SETTING: Monologue]
(One Male voice)

Exercise 1:
Listen to Sohrab’s story and then answer the questions below IN ENGLISH.

ANETPYY
(S

g9 ) e ) 5 S s adlaal s Sa dead g Sae (0 )

4 0 O aln Sie A1 Cupd Bk ) aag A (B a0 S
A3 ae s pdle Ladsd 5 gigl Ly Jid Aok ) L) adss el

Al Hanl IS an sSie (1SS Sadi

4 aa ‘qﬁmbuemuwuﬁa?gﬁCyfa\swe;uugﬁjmg
ASO a5 ale o Gl Sl aisie e Ll AS 50 Gl sl 4S0l Hhla
la b abe (il 3p O Sl o sa

G iy IS Sy e ple 5008 e hs 0) D) 482 4 Ly s Vs
D0 ) padin o S (ml ) gie 4S Al an Lo (4053 ol in Ciny 03 S
L G Sl oY) dee ol (R 4t 2l (adla 0y Sue ) 5 S
(e Dl ) e S dm 0w (o0 Dl (55 Na g )

Jf 4 G Hhad (8l (S HIS ) o8 Adnes adned ol y e Wl
S S g b ol glig gl e oy e

24
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Exercise 2

[SETTING: CONVERSATION]
(One female and one male voices)

Ol sl Sua

S8 ) Al 4 2 S I Alige 5ob ) Al s Ol el 8 )3 1 el
ka8 Al Wy gh G 5 iy (s o Al p ail) Gl &AEXS

Lo el puliion 5y el b ) el slaanti€ 5 WolSal T ¢ 1S Lo o3y ele ] 1) s
).L\A‘U‘L\\&m\_\.aﬂ\se.i)\d sla) JjJLgLMA JJ&J\.’)&DMM&I—U& u.u))\\_t‘_bé.ajb Jh\

S S 5 G (58 O OV s L3 Osdasay 3l ad e oS ART S lagsl 4 (Sa ) are
Alilioa 5 gl

M)Mu)uu.ah&)uuhdajhujcgwéu\}\)\.m ‘;_LA@?.\JJL;A J.m\
O oad 4l e dilie jalagy) ) calblia g0 e (K21 Jae ol sie

L one slaaall il ) Ahl) codi gl i (shal A T 4800 () gl pany ) 4l 1) gl
Ol LS a5 S Capa oall ) 53 sladae 5058 YL Vsana 5)ls) 1l
(O35 ot (S b e e (501 R g 5 lalas Cun 5 Jae Ladali ) sl

b i R e )0 Sl b Gl e sl sz dadall ) e Al
R N

u.t.i)\)\A\Sd.\ﬁd\.mJA&DJJJL)MJJJAS.J).\?J&SJ\LQ‘\:JS&\u.a‘).ﬂ_\.!‘)‘)\u.i_\ \j.u.u
MSGAUMAA‘)JDJ\JG&AAJSL_!\)MLJMJL&AS?J)AGA t_\SJ

Osp oxd i S el o s G5 (18 Gl 0 585 O e 4 4x cpl 2l
MJM}J@\}&Q?AMMJ\SJya&dad\sm\‘;gtgu}\)‘ksﬁuj\uhu B
(A sa

eﬁju\}\dmﬁumwdm umqmequ)\si_ml.@;uu i Jls (e 1l

=S S Gl 4 fa ) 4aS 2 g J&JJJJMJJMML&&Q&MJ\L;\JMUJ
EEJ‘UJ‘}”’JI—‘H}M wﬁ@@hgﬁﬁb&hﬂﬁJ\L\.\\quauﬁcc_mm

uJ}Mb@h@&;@\f&LC}DJJLSJ}L;

25




F886 Mark Scheme June 2015

B Ll s Al plai o Gl G ade 5 GRSl Ol A4S Qe 3 S Cala ¢ sl
a3 iga i sle 5 OIS o Gl Jled sladias (SSe Dt Jledi 4 pdila
C OR

« NS P NEPNEOW PEN

Gapda a3 (51680 pae 5 (sl e st s A 4 (AR V5, ) 1) el
A e 23S 535 ka5 Le sl
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